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When moms work more, their children learn less





How does this approach work?

Children’s test scores (S)

Mother’s hours of work in first 3 years (L)

No one believes this is the 
causal effect of mom’s work 
time on kids’ skill development
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Children’s test scores (S)

Mother’s hours of work in first 3 years (L)

No one believes this is the 
causal effect of mom’s work 
time on kids’ skill development:

1. We don’t see desired work 
for moms who stay home

2. MANY unobserved things 
determine L and S (ability, 
tastes, home productivity)
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If we could just figure out their unobservables, we could estimate how 
unobservables affect kids because these moms don’t actually work.

Then net that confounding relationship 
out of 𝛽̂𝛽𝑂𝑂𝑂𝑂𝑂𝑂 to deal with the bias!
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Imagine two groups:

“high L” observables (red)

And 

“low L” observables (blue)
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Observed!

If we can estimate mean unobservables…
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Test scores for kids whose moms work a 
lot are lower than what the moms’ 
unobservables predict…



labor supply slows skill development.
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Selection>𝛽̂𝛽𝑂𝑂𝑂𝑂𝑂𝑂 L is bad Selection<𝛽̂𝛽𝑂𝑂𝑂𝑂𝑂𝑂 L is good!

All we did was impute a little differently
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Say 12% 
didn’t work

Assume that type completely accounts for 
observable reasons why L differs.

 Differences in L among these moms only 
reflect their random unobservable 



How to impute 𝜼𝜼?

Density

Mother’s hours of work in first 3 years (L)0

Say 12% 
didn’t work

Then take the top 12%
of L for this detailed type

Assume symmetry in the distribution of 
unobservables and stick that mass down here.

Assume that type completely accounts for 
observable reasons why L differs.
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How to impute 𝜼𝜼?

Density

Mother’s hours of work in first 3 years (L)0

Now we “know”: 𝐸𝐸 𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢 𝐿𝐿 = 0, low L type (call it 𝜂̅𝜂𝐿𝐿)

HUGE benefit: no need for an instrument.



Issues with 𝜼𝜼are there none?
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0
Apparently the relevant selection estimate still implies a 
negative effect even at the most extreme hours assumption

Why isn’t this exercise about 𝑬𝑬 𝑳𝑳∗ 𝑳𝑳 = 𝟎𝟎,𝑿𝑿 ?



Issues with 𝜼𝜼

Other income (spouse or unearned/wealth)?

Age and composition of other siblings?
(a baby with an toddler gets a VERY different 
treatment than a baby with a 4th grader…)



Unobserved home productivity

What if the unobservable is not taste for work (latent labor supply), but the returns to home production (ie. childcare)?



Upshot

Fascinating, clear, creative new empirical approach.

Fits will with complementary methods (not just IV, but things like 
Altonji/Elder/Taber/Oster)

Biggest challenge is not robustness in that the results change, 
but cementing the case that this is not just a robustly omitted co-
determinant of NILF and children’s test scores.
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